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AMNO
M (2,5),N (5,2)

dm :\/(XZ—X1)2+(y2—y1)Z :\/(5_2)2+(2_5)2

J9+9 =418

N (5, 2)0(1,1)

B0y =y (%%, ) 4 (¥, -Y,) =y(1-5) +(1-2)

JV16+1 =+/17
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M (2,5).0 (1.1)

0oy =y =% ) 4 (¥, -y, ) =y(L-2) +(1-5)
J1+16 =/17
MN =+/18, NO =/17 ,MO =17

MN =+/18, NO =17 ,MO =17
QR =4/18, RS =+/17 ,QS =4/17

G GHUatia Lagild J ghatl) & il gluacia B lLalle LY (e 7 95 JS O e
S§S @a’AQRS = AMNO

©
AQRS

Q(3,-3),R (4,-4)

d o) :\/(x2 — ) By, Yy, ) =\/(4—3)2 +(—4—(—3))2
VT4

R (44),5 (3,3)

drs) :\/(x2 —x1)2 +

J1+49 =+/50
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